
NOUN EXAMS 
 

 

A sprayer machine performs the following functions excepts 
Maximize the amount of water use of mixing chemicals 
 

Property not common with basic machines is 
Mechanical advantage 
 

Which of this is not a fixed cost 
Repairs and maintenance 
 

The major processing work of the combine harvester is 
Threshing and cleaning of grains 
 

Gears are meant to do the following 
All of the above. 
 

 

The aims of agricultural mechanization include the following except 
Staffing problem 
 

Secondary tillage operation is used for except 
Destroy small insects 
 

Which of this is not a primary tillage equipment 
Spring-tine cultivator 
 

An example of a size reduction equipment are 
Bar mill -->Hammer mill 
 

Which of this is not a tillage operation 
All the above? 
 

Farm power can be transmitted by 
All of the above 
 

Which of the following is not a machine 
The try square 
 

The combine harvester does the work of 
Harvesting and processing grain crops?? 
 

A sprayer machine performs the following functions excepts 
Maximize the amount of water use of mixing chemicals?? 
 

 

 

 

The operation of four-stroke cycle engine can be found in 
All of the above 
 

The following are examples of a machine except 
Combustion engine 
 

Types of spraying equipment include except 
Wind vane sprayer -->Staffing problem -->The ease of communication 
between staff segments 
 

Which of this does not defines agricultural mechanization 



A special field of agricultural engineering 
 

Types of spraying equipment include except 
Mist blower 
 

Which of the following is not a machine 
The try square 
 

The following are examples of a machine except 
Combustion engine 
 

A machine is an appliance or equipment that uses 
Power 
 

Which of the following is not a machine 
The try square 
 

Which of this is not considered as part of fixed cost 
Fuel 


